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Final Exam Sample Review Problems Date Period
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Graph the system of mequahtlcs and clearly mark the solution region.
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Solve each system by elimination. Check!
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Chapter 8

Simplify. Leave answers with reduced improper fractions and only positive exponents
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Simplify. Write your answer in exponention form using only positive exponents. (This means
do NOT evaluate).
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CHAPTER 9. Polynomials and Factoring Neme Yy deqree+ Term
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Fimd each product. Write in standard form.
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Chapter 10 - Quadratics

Sketch the graph of each function. Clearly mark 5 points. Label the axis of symmetry, vertex,
y-intercept and x-intercepts.
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Sofve Quadratic Function by graphing. Sketch the graph of each function. Clearly mark S
podénts.Label the x-intercepts.—Clearly-state-the solutions. =
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Chapter 11 - Radicals

Simplify. Leave in simple radical form.
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Chapter 12 - Rationale Expressions and Equations

Simplify each expression. Leave as an improper fraction
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Solve each equation. Remember to check for extraneous solutions.
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